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Lo C)ur Sun”is constantTf‘
turning hydrogen into
- helium, with a power
output of 4*1()26 Watts. .
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How does fusion produce ener
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‘react so as to

~_ smallest possi
f “potential ‘energy,” like a
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energy is dEflned as the
energy you must put in *
to separate a nucleus

into its individual protons
and neutrons.
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The Proton-Proton Cycj;q. ¥ -




can be“‘avercbme by the

nuclear attractive force,

causing hydrogen to
fuse into helium.
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So, I|ke how do we get light?
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Elnstelns formula E= 1;1%2
« A photori’s energy is
related to its frequency by

Planck’s Formula, E=hf -
(h=6.63*10-34). |




. Once hydr
- used up, heliun S
Into carbon, oxygen,--

.energyn a
so stars eventually
collapse under their .
own weight -
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